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S CAlD
M OlHXNEE SAIRY
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SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
S A 1,906,799 1,939,525 N32,726
=2 323,357 320,137 3,220
2 1,583,442 1,619,388 A 35,946
DICHXI &= S AN 1,668,905 1,670,305 A 1,400
= 323,357 320, 137 3,220
2 1,345,548 1,350, 168 A 4,620
S8F ZA2e 1,365,505 1,366,905 A 1,400
= 323,357 320, 137 3,220
2 1,042,148 1,046,768 A4,620
G.BE2I XA ALY 90,930 96,930 26,000
201 LBt2AH 2,580 8,580 26,000
01 At 2t2lH 2,580 8,580 26,000
OBt 2H| 1,200 3,200 22,000
OMNLH S oty 208 &X &E 03 0 2,000 A 2,000
ouxtz 0 4,000 A 4,000
OS2YA&EE EHEH 2xta 25 0 0 4,000 A4,000
ML HME P MBHE BEAMY 4,600 0 4,600
= 3,220 0 3,220
2 1,380 0 1,380
301 YBtE E 2 4,600 0 4,600
= 3,220 0 3,220
=2 1,380 0 1,380
01 AFSIE & X5 2 4,600 0 4,600
OMHLHSHRY MEHES BEXAY
4,600,000 4,600 0 4,600
= 3,220 0 3,220
2 1,380 0 1,380
BHMSAAH (S AD) 237,390 268,737 A31,347
Ol (S Al 148,256 154,603 NB,347
ol AY| (S Al D) 148,256 154,603 NB,347
101 Q14 H 148,256 154,603 AB,347
01 84 146,416 152,763 NB,347
CUNFII === 23X 188,086,000 188,086 194,433 NB,347
Jl2HHI(ZAID) 89,134 114,134 A 25,000
I =2 HH (S AIDH) 89,134 114,134 A 25,000
202 04| 41,240 66,240 A 25,000
01 20 Y 41,240 66,240 A25,000
CENTCE] 2 A 58,520,000 58,520 83,520 A25,000
WEeSS(TAD) 504 483 21
BEXE 504 483 21
SBHEXE 504 483 21
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